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o8 Tack Shedl NAME:

Task Sheet 2

2a) Denise decides to sell her old bicycle by putting an ad in a
local newspaper. The first newspaper tells her that there will b
an initial cost of $20 plus a charge of $7 per day. If the total
cost is represented by €, and the number of days by d, w
equation represents this relationship?

) C=20d+7 i) C=20+7d
i) C =20+ 7)d V) C=20+7+d

b) Denise feels that the newspaper is chargin
to someone advertising on a popular website
inform Denise that there is no initial fee
day. If the ad runs for 7 days in each ¢

h for the ad. She goes

ck the rates there. They
ad; but it will cost $10.00 per

hich is the better bargain?

Answer:

c) After all of Denise’s ha n establishing the best price for her ad, she
A small local newspaper publishes only three
SWenise she can run it for three days at an initial

of $5. Which formula represents the cost to Denise?
=5+ 12d i) C=12+5d iv) 3C =12+ 3d

d) Deniseis erned with the amount of profit she will make from selling
your results in ¢) to determine the cost of advertising, calculate

Ils the bike for $87.50.

Answer:

© CLASSROOM COMPLETIL@PRESS Algebra - Task & Drill Sheets CC3313

=& Timed Deill Ghedh +1 NAME

2a) Solve these equations:

i)-14-(-a) =10 i) 10+g=24
q"’nuteg i)t+35=25-25  iv)15x+4+3x-1=2]

g byten__
andnumber

b) Write an algebraic expression for each phrase:

i) Forty-four timesanumber i) A number

i) Anumberadded tothirty —____ iv) Sixty mor

c) Evaluate each algebraic expression with t

i)a2+b; wherea=6,andb =3

d) Solve each equation for t

i) 10a = 1580, i) 2b = 36, b=___
i) 4c = 64, iv) 8d = 88, d=___
~\
ws his steps in solving the following equation for a:
-5=1
1: 3a-a-5+5=1+5 Step 2: 3a-a=6
tep 3: 3/a=6 Step4: a=2
Ralph arrives at the incorrect answer. One of his steps contains a critical
error. In which step did Ralph make an error and what should the correct
answer be?
J

{30%
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NAME: A Tosk Shedl

Task Sheet 5

5) Graph each lefter on the accompanying number line.

a) 4>x>-2

©
:
oo
:
~
:
&
:
o
:
A
1
&
1
NS
1
o
N
w

b) 8>x>-8 V
T I [ | | I T | I I | | | I T T |
9 8 -7 -6 -5 -4 -3 -2 -] 4 5 6 7 8 9

c) x=-25 y=7

T T | T T T T T T T T T T T T T T
9 8 -7 -6 -5 -4 -3 -2 2 3 4 5 6 7 8 9

d) On the number line below, graph th lution to x. X+4=-2

o)

I I I I I I I I I I I I I I I I I

9 8 -7 -6 -5 - . -1 0 1 2 3 4 &5 6 7 8 9

e) On the number line b ph the solution to x. =(-2)+x+5=7
T T T I T T T T T T I T T
3 -2 -1 0 1 2 3 4 &5 6 7 8 9

... On a scientific calculator =

... On a basic calculator =
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NAME: %ﬂ Warm-Up Drill Shedl + 2

7a) Graph the solution to x on the number line.
X+5=-2

9 8-7-65-4-32-1012345067829

b) Solve each equation for the variable given.
)9a+12=239 i) -4b -9 =-45 iii)7c+5=M\

c) The following pattern increases by the following &ﬁply the previous term
by4 and add 11.

21,95, .15

What is the missing term in the sequenc Answer:

d) Solve each equation.

b /x =10 Q—o
N
&

e) Solve each proportio

)10+8=x+10 i6+4=x+3 i)5+3=x=+6

iv)3+5=x+8 V)2+4=x+5 vi)9+10=x+4
f) Simplify ea sion.

. -3 12y 127 L 3602

)} i 127" iii) 8 iv) 0g "
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Deill Ghedh NAME;

Drill Sheet 1

M Review Shedh @

Review B &

Ike’s school decides to hold a carwash fundraiser for their scho hool
N vz i 2 i %2 4 v2 spends $40 for all the equipment needed for the carwash. Th n aying $3
) Xy ) X%y ) Xty for water/supplies for each car they wash. They charge $6 f washed.

The formula used to calculate their earnings is E = 6x = (3 reE=
Jane and Letitia are having a number of flyers print ing their Earnings and x = cars.
e

If x =3 and y = 4, which expression below has the largest

upcoming yard sale. The cost of printing is repres formula C =
25 + 0.05f (f = flyers). The number of flyers they ca o print is limited

Calculate their profit if they wash 50 cars:

by their budget, so they gave the printer the f art. Fill in the chart

using the above formula.
Number of Flyers Total Cost %
250
500

600
750

Which number completes thi e

7,13,10,16,13,19, ____

Answer;

Solve these equation ing your work:
Simplify the foll ‘i i dch th t .
implify the follow expression and choose the correct answer )3x+7=19 iN17-x=4

(X2 + 3x + 2) + x(2- x)
D x+2 \V iy 5% + 2 V) 2X2 + B + 2

usement park, Fred spends most of the day on the roller
ach ride costs $5. In addition to the cost of each ride, Fred
enter the park itself. Which equation below represents the
oney Fred will spend to go on x rides? (C = total cost)

) C=5x-12 i) C=5x+12 i) C=12x-5 V) C=12x+5
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Graphing, Values, Patterning,
Algebraic Expressions, Quotients

M Review Ghedl NAME:

Review C

a) Graph the solution to x on the number line. x+7=-1

a) Graph the following on the accompanying number line:

T T T T T T T T T

-0 -8-7-6-5-4 -3-2-]

b) Solve each equation.
DX =8 iy /X

c) Evaluate each algebraic expression with the

b) Find the value of y x if:

Dy = iny=

-

D10a+b;where a =7, andb =8 C) What is the figure in this pattern?

i) 7x + 2y; where x =-3,and y = 11

S

d) Solve:

N-33+d=12 i i) 72 + ¢ =99 - 19

iv) =32 = -6x - 2x 88=6-7x+12
Vi) 4x - 2x = =22 + 3x vipX+ 11 =-6x+ 18

e) Simplify the following

) 3(3x2 - 4x + 6) + 3x( i) X(-2X2 - 5X + 9) + 4x(x - 10)

iii) 7(2x2 - 5x + 8) _x iV) =3x(6x + 8x + 23) + 6x(3x - 2)
i term in these patterns?

i -9,-30, —_,-72,-93

g) Write ific or standard notation.

) 76 i) 9.14x105=____
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& Timed Deill Shedl + 7

11a) Plot the following coordinates on the accompanying grid.

A=(1,3)

B = (0, -5)

A

1A
1L®}

C = (-6, -4)

D =(8.0)

b) What is the missing term in these patterns?

) 12,24, 48,96,

c) Simplify the following expressions.

) 2(2x2 - 4x + 3) + 2x(3x - 7)

i) 5(3x2 - 2x + 1) - 4x(2x - 9)
ASY

i

iy 4.6 x 1 = x

V) X +3/5=4/5

e) Solve each proportion.

)7+10=x=+4

iN2+4=x+5
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i) 1024, 512,256, —__, 64

i) (-x2 - 3x + 6) + 3x(2x + 13)

V) =X(2X + 4x + 3) + 2x(2x - 4)

ARKI

V) y+2=53

vi)y x 1/7 =5/7

i3 +95=x+12

iV)2+3=x+15
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LT -

b)
i) 192 i) 128

c)

10x2-22x + 6
5x2 +36x + 6

i) 7x2 + 26x + 5
iv) =2x2 - 11x

HNx=28 i)x=72

Liipx=25 V)x=10 :

Hx=3

gno 5w

© V) 8/21
s Vi) 27/50  viii) 5/6

b)

ja=4 ijb=-3
ijc =8 ivjd=11

c) 2289

d)
i) x = =10

D iyx=2 W)x=1

SW

D i) -5x/2

i) 1/3y2

3X+2
vi) 9/20

) 11/6

6y-1:

a)
ja=18b =4

ije =3
ii) f = 3, g = 30

iv) 16 v) 108

D via=19 vilb=7 :

vili) ¢ = 57
X d=12.9

 x)e=16 x)f=15 :

xi) g = 4.45
xii)h = -8.1

Xiv)i=4 xv)j=48

b)

b)
jc=17 iijc =45

s iijc =726 NV)c=38

c)

i) 8X2+4x + 2
i) 2x2+2x + 8
jii)

Dx=9 ii)x=-27
ifx=-3 V)x=3

e)

Dx=2 i)x=-8
iyx=-3 iv)yx=6
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